Math 114 Name:

Midterm 2 1 —

Thu May 14, 2009 WHITE=

SCORE: /140 POINTS
. ALL PROBLEMS MUST BE SOLVED ALGEBRAICALLY TO EARN CREDIT
. PUT A BOX AROUND EACH FINAL ANSWER
. SHOW COMPLETE AND PROPER WORK TO EARN FULL CREDIT

Write a proportion for, but DO NOT SOLVE: SCORE: /4 POINTS
DY’s car can travel 587 miles on 12 gallons of biofuel. How many gallons of biofuel will DY need to travel 869 miles ?
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Fill in the blanks: The equation of the horizontal asymptote for y = T 5 is | 14) : SCORE: __ /6 POINTS
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Solve: The depth of an oil spill varies inversely as the square of the radius of the spill. SCORE: ___ /10 POINTS
If an oil spill of radius 30 meters has a depth of 12 millimeters, find the depth of the spill when its radius was 20 meters.

FOR FULL CREDIT, YOU MUST IDENTIFY WHAT ALL YOUR VARIABLES REPRESENT, FIND THE

EQUATIONS CONNECTING THEM., AND SUMMARIZE YOUR FINAL ANSWER.
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Solve: A number divided by fifteen is equal to four divided by the sum of that number and four. SCORE: __ /9 POINTS

Find the number. CHECK YOUR ANSWER(S).

~ o JO =gt =R
x __4 Creze: X=— 19 = ~Z

||I ; X é’]t o = _if_
. =i =k B
G i e A8 60 : &
o~ X&= b e
”‘:L— i 5 L? L/ {“ -
; / b - ™ %
\ o ._/\'(-\"’:::'V- _v_ it =



Solve for x: SCORE: __ /9 POINTS
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Solve for x: 8-3x|<2 SCORE: __ /9 POINTS
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Subtract and simplify: > Y %—5 ) SCORE:___/12POINTS
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Solve for x: —_———= g CHECK YOUR ANSWER(S) SCORE: ___ /9 POINTS
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Solve for x: ,2x £ 5’ +9=12 CHECK YOUR ANSWER(S) SCORE: ___ /9 POINTS
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Multiply and simplify: 5 . : SCORE: /9 POINTS
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Simplify: ——~—--—2 TP ' I — ’ 4+~ SCORE:___ /9 POINTS
x —=1lx ]

= }\‘-(f'J\ >K ) \/ﬂ_. -’\> , -.".“1 ‘\( A S\ g [ ) r"“) \.' 1-.‘_ 2 i s

i SIS \f\ o i \J

Wl

250 (B9 (2B 2 D(th

= Bt 2x3) = 2y D>

2 x-4
+
x+4 x-2

Add and simplify: SCORE: ___ /9 POINTS



Simplify: e . - SCORE: /9 POINTS
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Subtract and simplify: SCORE: ___ /9 POINTS
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Divide and simplify: SCORE: __ /9 POINTS
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Simplify: H=l B, o s SCORE: __/9 POINTS
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